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Write your Question Paper g\ o 59/08S/2, Set—. on the Answer-Book.
i

(@)  The Question Pap English/Hindi'medium only. However, if you wish, you can answer in any
one of the langu sted below :
English, Hindi du Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, K i, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are red to indicate the language you have chosen to answer in the box provided in the
Answer-Book.
(b)  If you choose to write-the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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ECONOMICS

FIITEH
(318)
Time : 3 Hours] [Maximum Marks : 100
g ¢ 3 gue] [quiis : 100
Note : (i)  All questions are compulsory.
(1)) Marks allotted to each question are indicated against it.
(iii)) Each question from Question Nos. 1 to 10 has four alternatives - (A), (B),
(C) and (D), out of which one is the most appropriate. Select the correct
answer among the four alternatives and write it in your answer-book against
the number of the question. No extra time is allotted for attempting multiple
choice questions.
Mot ¢ (@) |l we & SR AT
(i) Y% 9T & Y SHe o fag T ¥ )
(i) 997 & 1 ¥ 10 9% & TAd 99F. H AR [a&ded — (A), (B), (C) a1 (D)
g, fo i ¥ e w99 Suged ® | 9l faeedt ¥ ¥ 98 IO g qur etue
ST-gRadr ¥ U dE & 9F. X fad | sg-faeedr sl & fag
Al g9 ?I:‘é[;\ﬁ?ﬂ ST |
&
1  The value that divi the -series into two parts is called ....... 1
(A) Median Q\Q (B) Mode
(©) Quartil%@eviation (D) Arithmetic average
gt B A 9N F Fied I T B TS BEA © ...
(A) wfeest (B) wga®
(C) agd® (D) ST |1eg
2 The value of coefficient of correlation varies from ....... 1
(A) 0tol B) 1 to -1
(C) 0 to -1 (D) 1 to infinity
GeHeY s Bl oI ......
(A) 0¥ 1 d% & 9&ar & | (B) 13 —1 db & qkhar & |
(C) 09 -1 d% & Fhal & | (D) 1 ¥ < d% & Toal ¢ |
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3 Growth of resources results in ....... 1
(A) downward movement along production possibility curve.
(B) rightward shift of production possibility curve.
(C) upward movement along production possibility curve.
(D) leftward shift of production possibility curve.
gargHt @ Wghs BN W ...
(A) JAERA WHEET d% Ad @l S o ¥ |
(B) SdEH g4EMT @ ™ X Rgge S ® |
(C) TR GHET g% HUT @l 8T o & |
(D) IdES E9ET 9 S oM fgge war § )

4  Marginal utility can never be ........ 1
(A) zero
(B) equal to total utility
(C) greater than total utility
(D) negative
MG STAIREr &
(A) @ T & gl |
(B) pd IUIR@l % U@ € B "l |
(C) zpa Iwaifar & erfe <& &1 |ahdl |
(D) =TT FEl ' Gahdl |

S  Average cost and avera ariable cost are Rs. 60 and Rs. 40 respectively 1
when 5 units of a gg&} are produced. What is the average fixed cost

when 4 units are uced..?
(A) Rs. 100 Q\Q (B) Rs. 50
(C) Rs. 25, &V (D) Rs. 20

T IE B S T Safed H &1 of|d @ra ofX o afiadt @hTd shHsT:
% 60 3T B 40 % |4 3H1E I B X ofad Rex @ra fpa=r &Ry 7

(A) ®. 100 B) = 50

(©) = 25 (D) =. 20
6  Demand curve of a firm is perfectly elastic under : 1

(A) Perfect competition (B) Monopoly

(C) Oligopoly (D) Monopolistic competition

TH BH B AN G qUIAAl @EER B § ...

(A) 9l gieifar o (B) usfusR #

(C) sty o (D) UmTHeRIds giadiniar o
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7  An economy’s gross domestic product at factor cost is Rs. 8,000 crores 1
and its gross national product at factor cost is Rs. 7,000 crores. Then
net factor income to abroad is .....
(A) Rs. 15,000 crores (B) Rs. 1,000 crore
(C) —Rs. 1,000 crores (D) None of the above
T ST B YT G WX 9hd 9iq 3@ &, 8,000 HAS ¥ ofX dWed
A W GhA TR SR 6. 7,000 HUs 7 | faeen @ faw @em oma §
(A) ®. 15,000 &I (B) %. 1,000 &3
(C) -%. 1,000 &= (D) Suled ® € ®i3 R
8  Which of the following is not a flow ? 1
(A) Expenditure (B) Money supply
(C) National income (D) Sales
frafafed & § dF-@1 vaw T % 7
(A) = (B) T oy
(C) T e (D) fassr
9  Which of the following can have a value greater than one ? 1
(A) marginal propensity to consume
(B) average propensity to consume
(C) marginal propensity to save
(D) all of the above
Frefeftan 4 & fow a1, g1 ot v b
(A) T SUHRT
(B) sfad SuH
(C) dmm=
(D) U
10 Primary deficit is.equal to ..... 1
(A) Revenue-deficit + Interest payment
(B) Fiscal deficit + Interest payment
(C) Borrowings — Interest payment
(D) Total expenditure — Interest payment
TR AT SUET B § .
(A) U@ =T+ =N A 6
(B) UM =Rl + & YIaE %
(C) % — & YA &
(D) Fa =g — AN FAE &
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11 Explain the problem of ‘What to produce’. 3
FT TAERT B B G GAARY |

12 State the difference between micro economics and macro economics. 3

fte ardamer i gufle srfomey & I X ¥aRU |

13  Explain the meaning of : 3
(a) Budget line and (b) Budget set.
(31) ;9 [@r 8 (@) 9ol ¥ & od gAY |

14 Explain the meaning of excess supply with the help of a schedule. 3
THh TMGR bl germdl § fd Smue &1 o1d gHeEy |

15 Explain the “no to entry” feature of monopoly market. 3

THIUHR 96 B AT ¥ sahae”’ fagwar & e sifsm |

16 Give the meaning of real and nominal gross domestic product. 3

Irfas o s dba oXq S & ofd IRy |

17 Define "investment multiplier". What_can be its maximum and 3
minimum value ?

“ﬁﬁsTw”a%wﬁumg\@ | ‘SHeI Sffeehad SR FAaH qed T & Tebal & 7

¥
18 Describe the me@’e of value function of money. 3
LEUCIR ) a&&%ﬂ BB qUA BT |
19 State any three. characteristics of index numbers. 3

TaABIDBI DI BE. dF favane IaEe |

20 What is meant by absolute and relative measures of dispersion ? 3

afeeer & e ok 9wy A9 & orf ¥amu |

21 The price elasticity of demand of a commodity X is (—) 1.5. If its price 4
falls by 10 percent, what change will take place in its demand ? Calculate.
T X @ A @ dEd @g (<) 1.5 % | Ak 3"el ema 10 gfagd "e W,
A THH! AT W R URER B 7GR dig |
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22 Explain the different phases of law of variable proportions. 4
uftgdl orqumal & e & fafv= T & e g |

23 Complete the following table : 4
e diferer ol g St
Output Total Cost (Rs.) Marginal Cost (Rs.)  Average Variable Cost (Rs.)

(Units)
S (3.) FA arW (8.) d= @ (%) A afEd arE (5.

1 40 200 e
1 T — 18

3 - s
4 33—
5 110 22 g

24 Describe the functions of Central Bank as a banker to ‘the Government. 4

GIHR & SHhL & &9 § Halg Sb & Bl b AT BT |

25 Distinguish between direct tax and indirect tax. Give an example of each. 4

Jge ST el B H 9E BT | YAd Hl Uh SaeI9 Sifed |

26 Calculate net value added at market ‘price : 4
. ' Q&Q Rs.in 000 crores
(i) Change in stoc R\ O, 50
(i1) Value of outpGf........ccceiieeneniieeeeciieeee, 3000
(iii) Depreciaﬁ@& .............................................. 60
(iv) Interm € CONSUMPLION ....ceevevvveeenennennns 1500
(v) Indirect taxes..cc.ciiieeeeveieeeeeiirieeeeeiieeeeens 300
(Vi) Subsidies i..iteeiiiieiiiiieeeiiiieeeeree e, 50
IR B ge-fad o ghg &1 uRead #ifg
. 000 HUS
(i) Wd H TEIT oo 50
(i) SAET BT T covveeeireeeireeeiieeeeieeeenineens 3000
(ii1) FIITEIE oo, 60
(iV) AT TUHT .o 1500
(V) OTIRET T eevvvvvvnninninrninnnnnenannnsnenansnsnssnnsnnns 300
(vi) oMfs TERAT ..o 50
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27 State whether the following statements are true or false. Give reasons 6
for your answer :
(i) Total product increases only when marginal product increases.
(i1)) Average cost falls only when marginal cost falls.
(iii) Average product rises when marginal product is greater than average
product.

gargy, fafafed wow @& ¥ a1 T@d | e SoX & fog erer At |
() @ IUR ¥ T ghg Bl & 99 9Wid SUE H ghg ol & |
(i) offgd @ra ol ARl & 99 9miq @ra fRar &

(ili) 9 dHid Sog ofgd I o offus & df ofdd IdE Sedl ® |

28 Explain the effect of the following on the demand of a commodity. 6
(a) Increase in income of the buyer
(b) Rise in price of substitute good.
frefafed & T 9% & A U USH I YN B AT DT,
(37) ham @ o H Jhy
@) vfremmd 9% @ @Ed H giE

29 Explain any three properties of coefficient of correlation. 6

geHaY Ui @ feel A fagiydrel @ e sy |

30 Calculate arithmetic average by step deviation method. 6
Te—foge fafy gru STl A1ed &l 9iiehed BISg |
Marks mber of Students
= S8 et 1
0 — 10 ,§» 20
10 — 20 Q\Q 30
20 — 30 @$ 40
30 — 40 10
31 Explain equilibrium level of income based on aggregate demand 6

and aggregate supply. Use diagram.
0 B 10 e R e | e KR 111 R A 1 1 G B 5 (M 2 A
@as & SUAM HIg |

For Blind Candidates in lieu of Q. No. 31
Faq e gdentiai & fiu wew " 31 & Wwe W

Explain two alternative approaches of determining equilibrium level of income.

T S B FJad (LR BT & & ghiedes [aradl a9y |

0]
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32 Calculate gross national product at factor cost.
(Rs. in 000 crores)

(1) INEEIESt..ccciiiiiiieeeiiee e 600
(i1)) Compensation of Employees.........cceccveeervieenireennee. 5000
(111) RNt ceeeiiiiieeeee e 400
(iv) Net factor income from abroad .........ccccceeeeunnennn. =50
(V)  Net indirect taXes ...ccceeevvreeeiueeeeiieeeiieeenreeeeieeeeenes 150
(VD) Profit...ccecciiecieceeeeeeeee e 1000
(Vi1) NEt EXPOTLS couvvreeeirieeeiieeeiieeerieeeeireeereeeereeeeeeeeenenes -200
(viii) Employee’s contribution to social security ............ 1000
(IX) Depreciation ..........ccccveeeeieeeeiieeeeiieeeeiee e eevee e 200
E AR WX Ghd TS AR Bl diedd ity |

(®. 000 =)
(1) STOT ettt 600
(i) BTN BT THAB ..o 5000
(1) TRTRT oo e 400
(iv) fagemt @ faed FEM ST o —~ 50
(V) THEE STHRTE BTeiiiiiiiiiiiieeeee e B 150
(VL) BT Lottt s 1000
(vii) frem fafd........ Qi g R -200
(viii) waet e wcr@@@gw F G oo, 1000
(ix) PR (qe @3/ .................................................... 200

N
@$
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